
Vocab Misc Questions Overview
Vocab Misc Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is

similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to

elaborate the concept used in Vocab Misc Questions.

Question
In the following sentenences four sentences are given in bold. They may or may not be in the correct position in the

sentence. You have to find out which two or more words should exchange their position so that sentence become

gramatically correct and meaningful. If no words need to exchange their position, then mark the option 'No error'. To

manage the success(A), some staunch believers  consensus(B) the disappoinment(C) should not be defined in terms of a

claimed outcome(D).

Difficulty : Moderate Average Time : 47 Seconds

Options :
1. A-C, B-D

2. A-D, B-C

3. B-A, A-D

4. A-B, C-D

5. No error

Solution
The correct answer is option 1 i.e. A-C, B-D.

The question suggests finding the correct positionning of words in a sentence.

In grammatical and contextual references, A-C and B-D seems to be the most logical replacement.

'Disappointment' means the feeling of being disappointed.

'Consensus' means agreement among a group of people.

The sentence makes sense only when put in the above arrangement given in the option.

The outcome should be based on consensus, so it is most relevant to the word consensus.
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So the correct sentence is- To manage the disappointment, some staunch believers claimed that success should
not be defined in terms of a consensus outcome.
 

Page No: 2

https://www.gargi.ai/question-answer/in-the-following-sentenences-vocab-misc-questions-for-banking-292460
https://www.gargi.ai/

